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X1
Mo3. Mo3Ha4YeHHs HauMeHybaHHs Kinbk Ul\;?iﬂz_ [pumMimka
Cmanebi KoHCMpYKUIT:
5 KP2 180.2H/5-2 KpoHwmedH KP2 1| &1
KPl, 1802H/5-5 KpoHwmedH KP4 1 362
KP5 180.2H/5-17 KpaHwmedH KP5 11 217
BM1 180.2H/5-31 Ban npubody B1 2 | 13
o X1 180.2+/5-28 Xomgm X1 1 [ 130
BM1 3M ACTY 47382007 3aseManbansHud dpim #10; L=5 nM. | 1 310
Y [OCT 7798-70 Bonm 12x40 9 | 005
[ [0CT 5915-70 [adka M12 9 | 002
LI rOCT 1371-78 IaGda 12 9 | 001
BCb020 Ha onopu, Ke. 63,19
apMamuypa:
1 TY Y 26.2-00214652-003:2012 |l30namop LP-200 1| 350
Z TY 35-2036-90 Kobnadok K& 1| 003
B'aska cnipankHa AST 35 0,12 35 MM’
3 B'aska cnipankHa AST 70 1 017 [50-70 MM
B'aska cnipankHa AST 120 025 [95-120 MM
5 LAk Bamuckay BidzanyxubansHud PGALOZl 3 | 014 [35-120 MM
6 3amuckay naawkobua PGAT01 L | 006
9 3omuckad anapamiud AZA [ ] 6 | 023
10 TY Y 349-05758084-024-96 | Po3'ednubay P/AHA3-10/ 40041 1 L2
Mpub'a3aHud 1 TY Y 3.49-05758084-024-96 | Mpubid MP3-1041 1 12
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